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LEARNING OBJECTIVE

• Enable the students to recall the Ch-

1 Numbers.

• T e a c h e r  w i l l  m e a s u r e  t h e 

understanding level of the students 

by conducting the class test.



CLASS TEST

1.  Fill in the blank. 1 × 5 = 5

(a)                             is the largest 7-digit number.

FULL MARK - 15

(b)   99,999 + 1 =                            .

(c)   10,00,000 is represented as                               in international place value chart.

(d)                              value of a digit is the digit itself.

(e)   The number which is one more than the given number is called                                  .



CLASS TEST

2.  Do as directed. 2 × 2 = 4

(a)   What is the place value and face value of ‘3’ in 43,67,400?

FULL MARK - 15

(b) Separate the periods of the following number by putting commas
       according to the Indian number system.

(i)   482687.

(ii)   24659.



CLASS TEST

3.  Solve this. 3 × 2 = 6

(a) Find the difference between the place value and face value of ‘7’ in
       9,70,466.

FULL MARK - 15

(b) Write the expanded form and number name of 2,75,630. Also 
represent the number in an abacus.



CLASS TEST

ANSWER

FULL MARK - 15



CLASS TEST

1.  Fill in the blank. 1 × 5 = 5

(a)                             is the largest 7-digit number.

FULL MARK - 15

(b)   99,999 + 1 =                            .

(c)   10,00,000 is represented as                               in international place value chart.

(d)                              value of a digit is the digit itself.

(e)   The number which is one more than the given number is called                                  .

99,99,999

1,00,000

1 million

Face value

Successor



CLASS TEST

2.  Do as directed. 2 × 2 = 4

(a)   What is the place value and face value of ‘3’ in 43,67,400?

FULL MARK - 15

Ans. Place value of ‘3’ in 43,67,400 = 3,00,000

Ans. Face value of ‘3’ in 43,67,400 = 3



CLASS TEST

2.  Do as directed. 2 × 2 = 4

FULL MARK - 15

(b) Separate the periods of the following number by putting commas
       according to the Indian number system.

(i)   482687.

(ii)   24659.

4,82,687

24,659



CLASS TEST

3.  Solve this. 3 × 2 = 6

(a) Find the difference between the place value and face value of ‘7’ in
       9,70,466.

FULL MARK - 15

Ans. The place value of ‘7’ in 9,70,466 = 70,000

The face value of ‘7’ in 9,70,466 = 7

The difference between place value and face value =

70,000 – 7 = 69,993



CLASS TEST

3.  Solve this. 3 × 2 = 6

FULL MARK - 15

(b) Write the expanded form and number name of 2,75,630. Also 
represent the number in an abacus.

Ans. The expanded form of 2,75,630 =

The number name of 2,75,630 =

2,00,000 + 70,000 + 5,000 + 600 + 30

Two lakh seventy five thousand six 
hundred thirty.



CLASS TEST

3.  Solve this. 3 × 2 = 6

FULL MARK - 15

(b) Write the expanded form and number name of 2,75,630. Also 
represent the number in an abacus.

Ans. 2,75,630 in an abacus = L       TTh      Th       H          T        O

036572



LEARNING OUTCOME: 

Students are  able to recall the Ch-1 and also able to clear their 
doubts.
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